TRR2THEE LY PHEHEREFHEY) &

HHEELFER

(ENL:TH)
7 A = IH 4 BB S REE &
e A TR | ARG EEREA
/\i?i%' ( 84,430 )| ( 86,049 )
= 84,430 86,049
5B T B S EH R E RO R B 86,049
7y A = IH 4 TEEESE
g HAEE PHERE | AEEEREE
— ( 23,710 )| ( 23,755 )
AR 23,710 23,755
- EEESEEE
7 BRI K OV 8 Zs B2 DX DIl 21,734
G S
S - TRt
" ELELE ST A RS 725
-%ﬁ%ﬁ%%%
TSI TS O 1,296
sy M = OIH 4 T B SR RE
i ﬁ@ﬁ%ﬁ%(ﬁ@ﬁ%ﬁﬁ
. 825 780
TR 895 780
30 B BN B S R O T BT AR 780
5 et AR TRAE | ARG REEREE
§§é§§+ ( 84,430 )| ( 86,049 )
R 84,430 86,049
A A TR | ARG ESREAE
o) ( 24,535 )| ( 24,535 )
AR 24,535 24,535
- HIAEJE PoRAAE | AR SEREE
O);j” ( 108,965 )| ( 110,584 )
i 108,965 110,584
e | s E TR | A EEREA
SEHE R | ( 108,965 )| ( 110,584 )
o 108,965 110,584
(VT —mEAE




